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Integration Exercises - Part 2 (Harder)(3 pages; 8/8/19)

(D) [ e
(2) [e**(1 + ex)% dx

dx

1
(3) fx/f(1+\/§)
(4) [ secx dx

2
(Inx) dx

OF

(6) [ 2 dx
(7) [ V1 + sin2x dx

(8) [ arctanx dx

9) [ dx

xlnx

(10) [ ez‘;ﬂ dx
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(11) f 4+tan?x

12) J

1-sinx

(13) fz

4 2+9

sin2x

(1 ) f 1+COSX
(16)* f01\/16x2 ¥ 9 dx

(17)* [ sec3x dx
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(18) [ sec*x dx

(19) [ cos®x dx

(20) [ cosx In(cosx) dx
(21) [ tanx sinx dx
(22) [ sin3xcosx dx
(23) [ cosecx dx

(24) [ tanx dx

(25) [ tan*x dx

cos3x

(26) J

sin2x

cosx+sinx

(27) [EoSEERE

(28) [ tanx secx dx

cosx—sinx

(29) farcsm( ) dx

sinx

B0)* |

sinx+cosx
(31) Find a reduction formula for I, = fol x™W1—x? dx
(32) [, (Inx)? dx

(33) [ 2% dx
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dx

36) J

(2x2+3)2

(37)** [V4x? — 1dx
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(38) | e

(39) f“jf dx

dx

(40) Find a reduction formula for I,, = foz x™"V4 — x? dx,and

2 1024
hence show that fo x°V4 — x2 dx = —

(41) Find a reduction formula for I,, = fon cos™x dx, and hence

3
show that fon cos*x dx = ?n



